1, printffTENH AalE A 1?2
inta=>5;
a>6 && ++a;
printf("%d", a);

2, At 12iE $#define EA—1EE, BUERB1E
hEZDE (ZRREERM)

3, % FstatichfE AR A?

4,1 )%EBFconstZ2H4AEE?
2) TEHREREARMTAREER?

constint a;

int const a;

const int *a;

int * const a;

int const * a const;

5 AEZBaH THRIEX :
a) — " #H% (An integer)
b) —MEREIEEEAIIEEE (A pointer to an integer)
c) — I iEETEEARIEST, EBEEANEHEZEE—1
#REL (A pointer to a pointer to an integer)
d) =M H10 T BREHAEHA

(An array of 10 integers)
e) — P HB101 A, ZIss2iER— 1R
@ (An array of 10 pointers to integers)
f) — M ERB 10 B R EEEAN TS

(A pointer to an array of 10 integers)



9) —MEERENIES, ZREE - TEBESEHER
Bl — A

(A pointer to a function that takes an integer as an ar
gument and returns an integer)

h) =P B10 1 EEH A, ZietHER— 1 RE, %
REA— P EBESEFIR O — R

( An array of ten pointers to functions that take an int
eger argument and return an integer )

6, strcpy & 1A SET

7, BINTTEX, FTENER?

int a = 0x76543210;

int b = 0x89abcdef;

char "p = &a;

P++;

printf("%x\n", *p);

8, MTEXHEHIE, KEKE:
typedef struct student {

char val_arr[17];
int val_int;

char val_char;
double val_double;

} Student;

9, ¥I|iiE A):static int *p = malloc(sizeof(int)); HITRISE
REIEH



10, %4535 BRtypedef S#definefl9X (327, 7 A
typedef int * int_ptr_t; 5#define int_ptr_d int * 254537
iA)



